Confucianism, Legalism, Daoism
Directions: With your partner, address the following:

Problem #1: 153 passengers on Malaysian Airlines Flight 370 were Chinese citizens (227 total passengers)

 The search for Malaysia Airlines Flight 370 with Chinese travelers aboard has revealed the limits of Beijing's influence in its own backyard and left communist leaders facing outrage from their public.   Beijing has demanded Malaysia do more to find the missing Malaysia Airlines jetliner. But despite sending nine ships to help in the search, China appears to have little leverage over its far smaller Southeast Asian neighbor.    (source: CBS News, March 2014)  
How do you think each philosopher would respond to the Malaysian government? 

Confucius’ Response:

Lao Tzu’s Response:

 Han Feizi’s Response:

Problem #2: Beijingers are once again choking as smog levels hit “heavy or even worse” levels in the capital and a number of other cities across the country.  Persistent problems with city air have prompted officials and entrepreneurs to consider ways to protect their citizenry from the pollution. (CNN News February 2014)

How do you think each philosopher would address the pollution issue in China?

Confucius’ Response:
Lao Tzu’s Response:

 Han Feizi’s Response:

Problem #3: A long history of son preference has led to female infanticide and the neglect of daughters in some parts of China.  But in recent decades, the spread of cheap ultrasound (enabling sex-determination in early-mid pregnancy) and easy access to abortion courtesy of the government’s one-child policy, has led to the widespread abortion of female fetuses.  As a result, approximately 30 million more men than women will reach adulthood by 2020.  (source: CNN, March 2013)

How do you think each philosopher would address the disproportionate numbers of males to females in China?

Confucius’ Response:

Lao Tzu’s Response:

 Han Feizi’s Response:

